Name: _@:{' L&Qz 10 [5 5-a-day

1st August
70 X 4 2,000 — 50
710 LBoo
| o - S O
B0 | 1€ 0
280 G
Match each shape to the correct name Q Pentagon
Qctagon
Heptagon
Triangie

Circle the multiples of 8

22 18

Find the number halfway between 8 and

14
8 I\ 14
e




- 5-a-d
Name: QH\S(PQES =)
2nd August
Double 17 5X3X%X3
L SONS =MD
SRS ;
20 ISXR >uS
i
Y Ce§
Arrange these amounts of money in order,
from smallest to largest £155 128p £0.99 £
Zoqq| [\Bp | 35| | 22
smallest largest

What time is shown on the clock?

2 | minutes to

S

Here are some digit cards

4567

Write the digit cards into the boxes so that
the answer to each calculation is 8

40 + (5
15 - (7
2 x (4




Name: %\‘ }QI_S 5-a-day Bronze .
3rd August
14 +1 1,000 + 80
XYoo
- S0
1O
(Y QLo
What number is the arrow pointing to?
e
Y R |1 1
[T 11 1] 11
30 50

Find the two missing numbers

Tick any shape that has a right angle




Name: M_

5-a-day

Bronze

4th August

155 - 30

WS

9x%x3

27

How many days are there in April?

&0

Bolton Rovers play some football matches

The results are shown in this bar chart

A

16 . - y—

14

12

Number of 10
matches

Win Draw Loss

How many matches did they lose?

1O

How many more matches did they win

than draw?
a3
=

——

o




Name: _M 5-a-day Bronze

5th August

30+ 30+ 30+ 30
4152

30
3O
30
| 20

(e X

2 apples cost the same as 1 pineapple
One apple costs 36p

How much does one pineapple cost?

26

v

Draw a pair of parallel lines

Match the numbers that multiply to give > | 12
an answer of 48
6 48
3 16
1 8




5-a-day

Name: _BQ\M_ Bronze
6th August
20 x 20 75 +5
7.0 JEY
X 10O S0
oYs

Draw a4cm line

Jack has these digit cards

He makes a 2-digit number and a 1-digit
number.

He adds them together.

His answer is a multiple of 5

What could Jack’s addition be?

2+ g8

The children at Highfield School are
collecting money for charity.

Their target is £200

So far they have collected £115

How much more money do they need to
reach their target?

12@
— S

3S

€3S




Name: W 5-a-day

L Bronze
7th August
1,200 + 500 62 — 18
\y [2e]o 6\
= S0 ~\ |8
[]o)o g &

Wwico;

4y

A group of friends earn £44 by cutting
grass.

They share the money equally
They get £11 each.

How many friends are in the group?

A bottle of water holds 750 millilitres
500 millilitres of water is poured out

How much water is left?

250 230

- JO O
78 @

WATER
750ml

Megan finishes school at 3:00pm
She gets home 30 minutes later

Show the time Megan gets home on the
clock




Name: _ DNSWOLS

Le‘;sfb

G

439

5-a-day Bronze 2
8th August
1
450 — 11 _2_ of 36

R

\&

Here are the lengths of 3 rivers

River Length in miles
Bann _80
Thames 215
Tay 117

Write the hames of the rivers in order of
length. Start with the longest.

Thome

Rann

Work out the difference in length between
the River Bann and the River Tay.

0/(\;:2)
=37 |
27 ks

Write 6 in Roman numerals

V1




Name: _BQSLUQQ 5-a-day Bronze

SO

9th August
75 %X 2 60+5
18 \ 2
| |2l $16'0

78

\J ~
| APRIL [
M TWTF Sasu

123456
7 8 910111213]

14 15 16 17 18 19 20

21 22 2324 2526 27
]28 29 30

What day is the 16" April?

VM

Ed puts these five numbers in their correct
place on a humber line.

319 285 201 292 310
20| 285 2923 €
200D

Write the number closest to 300

A

Leroy buys a magazine for £3.69
He pays with the exact amount of money.

Circle the coins he could pay with.




Name: _Mﬁ_ 5-a-day Bronze

10th August

48 — 19 77 + 33

79 1O

On the grid, draw a rectangle e S T LS A S T
° p ° ° ° b ° ° [ ) °
[ ] o 2 . [ ] [ ] [ ] [ ]
L [ ) [ ] [}
® [ ) [ J [ ]
On the grid, draw a pentagon o e o o
® [} [ ] [ ]

Show 1:45 on the clock




Name:_w_ a8 02y Bronze
11th August
34 + 2 2X2X3x3
FX{T? 2 =
233 PRI
1L X3 =3

T

26

Name this 3D shape

CQ\\W

Alice collected information about the pets
her friends owned.

Fill in all the missing labels

The bar chart shows the information from
the table

Here are her results A
Pet Number owned [ \O l |
Dog 4 Number ]
owned |
Cat 12 E] L |
Rabbit 6 [Z ]
0




Bronze £

Name: _yasuelS 5-a-day
12th August
55+ 160 5x10x 3
\ & O SIXVO 250
4+ |SIS ;
21018 SOXI = ST
i
2SS 5O
A red block, yellow block and green block
are placed in a row. 16cm \ ¢m| 8cm
Find the length of the yellow block
\6 ENY
y S8 - Y4 :
Y (. 35cm
How many vertices does a square based =
pyramid have?
S g r_
2 ™

Find the two missing numbers




Name: _ P\aSwors 238:02y
13th August
53 — 35 5xXx5x%3
'3, SMGERMN]
= 35
R ASITNEwE
S o

Rebecca buys a scone and a biscuit. Menu
Tea £1.35

How much does she pay? Coffee £1.80
Scone £1.30

\._ % O Biscuit 70p
1O

Henry has £3 for e 2Z- 00

He buys 2 packets of crisps costing 55p ,—J . ,—J _____ \ -AO

How much money does he have left?

$S Z\-Q0

There are 420 building blocks in a box

There are 4 colours of building blocks.

There is the same number of each colour

How many of each colour are in the box?




Name: Q(uu &Qﬁ 5-a-day Bronze

14th August

2X9x%x?2 7,005 — 10
2ixal=1y R ﬁ&bg
— 1
LI N[22 6 Ca4Gs
26 6QAS

1
Shade E of the shape

] Which sport does all 3 girls play?
Hockey | Golf | Cricket

Helen / ‘/ M@C\L@iﬁ

Leah ‘/
Emily ‘/ ‘/ ‘/

Which girl plays the most sports? Which girl does not play cricket?

Ewﬁ [ealn




5-a-da
Name: Q{\S\UQCS X

15th August

80 X 3 44 + 44 + 44

g 0
x| 3
2160 rul

_le o
Sloee

240 | 247

This jug has water in it. Peter pours 450 millilitres of water out of
this jug.

How much water will be left in the jug?
-1 1000ml

- \SO M\

L 600

Peter then pours 550 millilitres of water

oty \J ﬁb@ into the jug.
& 7 _ SO
} \ SO How much water will now be in the jug?

Erin needs 22 cupcakes
There are four cupcakes in a box.

How many boxes does Erin need to buy?




Name: MOJQS o-a-day

16th August
11+12+ 13 100 =5
(. 020
y [ Sl lolo

36

20 20

There are 6 eggs in a carton.

Anna buys 9 cartons of egg.

How many eggs does Anna buy?

The temperature in Belfast is 7°C i /Z S‘
The temperature in Cairo is 25°C — -7
3
What is the difference between the two '
temperatures?
e
Circle the correct word to complete the B

sentence below.

Line A and Line B are

parallel perpendicular “equal




Name: Dvx&(u@f) 5-a-day BIGHES

17th August

85 — 27 5x6=134+ | |77
185 Sx6=230
,_'2/; %b
5

— 1.3
| 7

S8 \"7/

How many minutes are there in one hour?

O nwitaukas

Circle the right angles

e

Beth has written down a three-digit What could her number be?
number

2(?21?

All the digits are odd q 3 \

The digits add up to 13




Name: _M_ 5-a-day Bronze 3
18th August
134 — 64 52 + 2

75

—

i
o
=

©) oy 1 g

0

Find the missing number

®

9
(R

v

3 F—@d)

morning

Number of
children

120 -
100 -
80 -
60 -

40 4
20 -+

0

The bar chart shows how children at a
primary school travelled to school each

How many children travelled to school by

car? 5 O

Car

Bus

Walk Train Bicycle

How many more children travelled to
school by bus than by train?

RQus= wo %o
Traun\ o)

20




Name: Jﬁ&&;&ﬂg_ 5-a-day Bronze ;,_-‘;}

19th August
30 x 30 1,000 — 10
20 oo
K320 = L O

ICIENY

9
O
Q

@ QQO

Harper has four coins

He has £1.10

Write what the four coins could be

5@‘9 SCDP \§\? 5(3

What number is halfway between 50 and

1107

L i \ [ 8 ) 1

| T | — & | | | =2 ) R

e W0 © 0

Alexandra has a box of toffees. 33 o S“ m /l
She has 8 friends. ~ - Toff
She gives them 5 toffees each. L{O‘p—( s 4:_’ R o
There are 7 toffees left.

How many toffees were in the box at the Lﬂ \‘C’“&‘Q 3

start?




Name: Aﬂ&ﬂeﬂ

]

KA

5-a-day Bronze 3
20th August
| 8
4 9 5%4
+ 2 3 |
F-oL

What fraction of this shape is shaded?

4/c‘

Alice collected information about her
friends’ eye colour.

Here are her results

Eye Colour Number of Children
Number of
Brown 8 children
Blue 10
Green 4

The bar chart shows the information from
the table

; Eye colouﬂx

q"@/f\

+
B




Name: AM\\M\

How much money should Erin give Molie
so that they have the same amount of

money?
A

5-a-day Bronze
21st August
300 — 120
‘?‘R ‘1
—53: |9
4 3
49 [Je!
'I\Eﬂr(i):iﬁ;saiozpzp fo “a& =18

Two shapes have more than 6 edges

Circle them.

Chloe is late arriving at school.
She is meant to arrive at 8:55am

The clock shows the time she arrived.

How many minutes late is she?

Slq Mg




Name: 1 N\ &A M 5-a-day

Bronze ( &

22nd August

88 — 19

w&%
\ 19
69

69

@2 BN o]

\N

Megan is buying carrots.

What amount of carrots does she buy?

Bk

Kilograms

Sinead buys an ice cream for £1.15
She pays with a £2 coin.

How much change should Sinead receive?

&p

—

Find the two missing numbers

e

27 30

33 (3¢) (39)




Name: [ \\SWeeS

5-a-day

23rd August

50 X 50

LY

2

Bronze [

QG

395 people watched a rugby match

Write the number 395 in words

“Three hundred. Qo
mhj .f- we.

Carl is measuring how much water is in a
glass.

How much water is in the glass?

ISl

100 m!

Oml

Draw a hexagon




Name: BM 5-a-day Bronze

340

24th August
900 — 60 4 X 26
R 6
X 4
o &

16 4

Colours of cars in the school car park
20T

Frequency18 i
161 EE

141
2+ M

10+ 'L —‘

fo

]

Biue Red White Black Other
Colour

O N d O @

What is the most common colour of car?

Rod

How many more cars were blue than
black?

Show the time five past two on the clock




Name: AO\M

+1

5-a-day Bronze |  ";'
25th August
48 + 23 8xX9x%x0
4 93
+ 33
el

A carton of milk costs 65p

Find the cost of three cartons of milk

2= 1. 5%

6Sx? 2

1S

Complete the tally chart

-
aw%ww
Red. Bl Bde R\ed\s?a@

Colour Tally Frequency
Blue H 5
White i\ Q.

Red | WL 1L E
Green i) 4..

Which colour is the most common?

fodl

Which colour is the least common?

Blue € Lkilo




Name: l&ﬂ K)QQ &_

5-a-day

Bronze [
i

26th August

5X%X8

“@o

146 + 70

-
N

A6

Fill in the missing numbers

+
o |w O
O ||| >

Arrange these temperatures in order, from
lowest to highest

S°¢ 18 @ S8

ER O L

»

T

[ARAREE

| @c|

In the diagram, three circles in a straight
line add to 100.

Write in the missing numbers.




Name: AANQ)D

Q30

5-a-day Bronze 3
27th August
80+ 40+ 110 75 % 3
| | O
D o 35
+ o x 3
3130 QLS

AINAY

A café sells sandwiches and rolls.

They either have tuna, chicken or egg
fillings

This table shows the sandwiches and rolls
sold last week.

How many sandwiches were sold?

¥+

Filling Sandwich Roll

Tuna 22 14

Chicken 30 13

Egg 25 10
¥

How many more tuna sandwiches than
tuna rolls did the café sell?

Q-4 = 3

PR

Write 8 in Roman Numerals

\VAIR




Na_me_:ﬁ(_m&ﬁ_ 5-a-day Bronze

28th August

5|7’0

+
(o))

7% 4

Which coins could Daniel choose?
Kk = 060
Do Shod chose,

DY)

Which coins would be left for Ben?

Daniel and Ben share these coins so that gl £1, 0. S-OP, 1Op S,
they each have the same amount of 9 .
money. p lp y o, 1p lp

Daniel chooses his coins first.
Ben takes the rest of the coins.

B0 | s+
0’"‘
;J:ri:geerach digit once, make an even @




Name: A ‘\bW*Q»h 5-a-day

Bronze [ 4

29th August

2X2X2X2

16

265 + 45

°B)

—|£
u W

310

What fraction of this shape is shaded?

He = 5
% %

Henry is paid £10 an hour.
In one week he is paid £160

How many hours did Henry work?

16 kgiu

|60 =10

i

| 6

This square has some dots on its sides

Join two dots to divide the square into two
equal parts.




Name: A‘\W

Bronze # &

5-a-day
30th August
21 = 55+34+ 11
SS
S|4
L |
60
E e
Isabelle is making a tally chart. B D_‘_‘Y—x Tally | Frequency | |
[ Monday | HHEtHE I 12 |
Finish the tally chart for her. Tuesday T -
Wednesday, T I( | 7 |
| Thursday | HH- HH 1T
| iy | Th TRl 1 10

How many vertices does a cuboid have?

%

Show half past nine on the clock




Name: A !! &AQH)

5-a-day

Bronze

31st August

30=6

S

8x0

How many days are there in September?

({®

A wooden block is 6¢cm tall
Jonah makes a tower using 4 blocks.

How tall is the tower?

Oy L = 3&cﬂ

8cm§| | | I

Vicky has 100 cupcakes.
Vicky gives 64 cupcakes to her brother.
She then shares the rest of the cupcakes

equally between her two friends, Megan
and Jack.

How many cupcakes did Megan gét?
W -64 =36
6t = 18
-
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